РНОТО	COLOUR	AMOUNT	AMOUNT	TOTAL
STYLE S8 HEELED SANDALS		PER BOX	OF BOXES	
			· · · · · ·	
	R/	ΑΤΙΟ ΡΑϹΚΕ	D 22 PER BC	X
	SIZE 36	TO 41 IN R	ATIO AS FOL	LOWS:
		3/4/6	/6/2/1	
			1	
	BLACK	22	298	6556
Carles -				
	R	ΑΤΙΟ ΡΑϹΚΕ	D 22 PER BC	X
	SIZE 36	TO 41 IN R	ATIO AS FOL	LOWS:
		3/4/6	/6/2/1	
	WHITE	22	118	2596
	R	ΑΤΙΟ ΡΑϹΚΕ	D 22 PER BC	X
	SIZE 36	TO 41 IN R	ATIO AS FOL	LOWS:
		3/4/6	/6/2/1	
	BEIGE	22	131	2882
	RATIO PACKED 22 PER BOX			
	SIZE 36 TO 41 IN RATIO AS FOLLO			
	3/4/6/6/2/1			
	PINK	22	54	1188

STYLE S8 HEELED SANDALS PER BOX OF BOXES RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 Mathematical Structure SIZE 36 TO 41 IN RATIO AS FOLLOWS: <th>РНОТО</th> <th>COLOUR</th> <th>AMOUNT</th> <th>AMOUNT</th> <th>TOTAL</th>	РНОТО	COLOUR	AMOUNT	AMOUNT	TOTAL
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990	STYLE S8 HEELED SANDALS		PER BOX	OF BOXES	
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990				<u> </u>	
3/4/6/6/2/1 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990		R	ΑΤΙΟ ΡΑϹΚΕ	D 22 PER BC	X
BLUE 22 67 1474 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		SIZE 36	TO 41 IN R	ATIO AS FOL	LOWS:
BLUE 22 67 1474 BLUE 22 67 1474 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726			3/4/6,	/6/2/1	
RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		BLUE	22	67	1474
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
3/4/6/6/2/1 GREEN 22 45 990 RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		RATIO PACKED 22 PER BOX			
GREEN 22 45 990 GREEN 22 45 990 Mathematical Stress of the second stresecond stresecond stress of the second stress of the s		SIZE 36 TO 41 IN RATIO AS FOLLOWS:			LOWS:
RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		3/4/6/6/2/1			
RATIO PACKED 22 PER BOX SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		GREEN	22	45	990
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726					
SIZE 36 TO 41 IN RATIO AS FOLLOWS: 3/4/6/6/2/1 RED 22 33 726		D			X
3/4/6/6/2/1 RED 22 33 726					
RED 22 33 726					
		RED	22	33	726
HEELS TOTAL 16412					
HEELS TOTAL 16412					
HEELS TOTAL 16412					
HEELS TOTAL 16412					
HEELS TOTAL 16412					
			HEELS	TOTAL	16412

РНОТО	COLOUR	AMOUNT	AMOUNT	TOTAL
STYLE S5 FLAT SANDALS		PER BOX	OF BOXES	
			<u>۸</u>	
	R	ATIO PACKE	D 24 PER BO	X
	SIZE 38 TO 41 IN RATIO AS FOLLOWS: 2/4/6/6/4/2			LOWS:
A LAND			I	
	WHITE	24	32	1752
			D 24 PER BO	
	SIZE 38		ATIO AS FOL	LOWS:
		2/4/6	/6/4/2	
	BLACK	24	91	2184
	DLACK	24	91	2104
The second se				V
			D 24 PER BO ATIO AS FOL	
Live The	5121 30		/6/4/2	20110.
	PINK	24	39	<mark>936</mark>
	RATIO PACKED 24 PER BOX			
	SIZE 38 TO 41 IN RATIO AS FOLLOWS:			
			/6/4/2	
			_	
	BEIGE	24	43	1032

РНОТО	COLOUR	AMOUNT	AMOUNT	TOTAL	
		PER BOX	OF BOXES		
	R	ΑΤΙΟ ΡΑϹΚΕ	D 24 PER BO	Х	
	SIZE 38	TO 41 IN R	ATIO AS FOL	LOWS:	
				2/4/6/6/4/2	
	BLACK	24	40	960	
	GLITTER				
		-			
MALE AND A REAL PROPERTY AND A					
	RATIO PACKED 24 PER BOX			Х	
	SIZE 38	TO 41 IN R	TO 41 IN RATIO AS FOLLOWS:		
	2/4/6/6/4/2				
	BLUE	24	32	768	
				V	
			TIO PACKED 24 PER BOX		
	SIZE 38	SIZE 38 TO 41 IN RATIO AS FOLLOWS:			
		2/4/6/6/4/2			
		24	24	576	
	CLEAR GLITTER	24	24	5/0	
	GLITER	l			
		FLATS	TOTAL	8208	
	1		TOTAL	0200	